Relay-type Terminal Block

A £
5 B 15
25.5 27 21.5
[ | //
] T Il - Il . Il
~J - 8
[T [ y H
D1 _ — o] <
4 [ap] <H
i 1 i IR
ZiI\"2 N AN A
T T T T
! J /7 : : 0
15| 27 8] 19 4 23 6.5 o
| /{ ~E | —
|
® =
<
wion
Loy | | - | %
2 | yd I ! Vd
(A ///
i )] P.
« Ordering Form:Type No. No.of Poles(P)
- FERRE A AT B L2 6. 6N
* Connection screw:Tightening torque is 6.6N-m.
CHN—FA T a o TEY T OTIFEOBIIEHERREIZ-CA" XE"-CT" & TRALTEE W,
L CT A L 220 5,
« The cover is optional, so if you wish, please write "—CA” or "-CT” at the end of the ordering method
In addition, “"-CT” will be delivered as an attachment
M {t#%.~Specifications.
#BE/Part No, EBE/Part No. #E . Material ##. Standard Ti&/Size ALER/Treatment {#i%/Remark
1 P T Internediate base | 7 = / — A Phenolic UL H {4 Black
2 Wi¥E - A End base A | 7=/ —/VHIlE  Phenolic UL B 4 Black
3 ilifi - B End base B|7=/—AHilE  Phenolic UL M8 Black
4 HEEHE Terminal # 4R Brass €2680P IR 3.0 =yl Ay%F  Nickel-Plated
5 FERRAR L b Screw #% Steel Niel M8X1.25X150|  =ffiymA—b  TrickstChroncte Treamen WSiffRAEVE  Type@
6 FOBH Marking strip| 77 A 23— Fiber UL WE 0.8 o White
7 73— Cover HYH—H%—F  Polycarbonate UL HJE 1.0 % WA Transparence
8 HA—1ED A Cover Retaing serev # 4R Brass C2700W M3X0.5X60 | =y4hAvy*  Nickel-Plated PiEARFA Type®
9 J#ifEAR L b Connecting bolt #% Steel SWCH M4X0.7 Zfi7aA—=b  Trikent Cronae Tretment F~
10 k) b Comnecting nut # Steel Niel M4X0. 7 Zf/mA=b kot Chronde Tretnen
11 Hfx T 22— 7 Insuration Tube | HEEE==)  Polyving] chloride UL
12 A ¥ —hF v b Insert Nut B8R Brass C3604B M3X0.5 AoxiplL No plating

EwF . pitch 27mm

1]
T%;Nmm, UF1006-150A-PCA
x T AC600V 150A
g

HERIEM DC500V  100MQ LA E
lusulation Resistance] DC500V  100MQ and over

it & E AC3000V 143fEl Ll E
Withstands Voltage | AC3000V Iminute and over

R CE

Screw Diameter

M8

o B i
Compatible Wire

8-1/0 AWG (UL/C-UL)
2-1/0 AWG (TUV)

HREEERF

Recummended Crimp Termina

R60—8

ULEE#R A =

UL Wiring Method

I7Y M=% VT /N

Factory Wiring

@

—f&/2#  General Tolerance +0.5

|R!§'/Scale‘/z B /Unitmm

@

©) WERE E-E
@HhIN—EHHAR
A =2
C J
Lo
o /1l
[]
6 ol <«
<t ©
=1
4-R2 1
F$/Poles | 1P 2p 3p 4P 5P 6P 7P 8P 9P | 10P
A 57 84 | 111 | 138 | 165 | 192 | 219 | 246 | 273 | 300
B 47 74 | 101 | 128 | 155 | 182 | 209 | 236 | 263 | 290
c 44 71 98 | 125 | 152 | 179 | 206 | 233 | 260 | 287
Wi¥i/Poles | 11P | 12P | 13P | 14P | 15P | 16P | 17P | 18P | 19P | 20P
A 327 | 354 | 381 | 408 | 435 | 462 | 489 | 516 | 543 | 570
B 317 | 344 | 371 | 398 | 425 | 452 | 479 | 506 | 533 | 560
c 314 | 341 | 368 | 395 | 422 | 449 | 476 | 503 | 530 | 557




